1) ن^ل4 = 14 (ن-2^ل3)
مضروب ن / مضروب (ن-4) = 14× مضروب (ن-2) \ مضروب(ن-5)

اذن ن(ن-1) × مضروب(ن-2) / (ن-4) × مضروب (ن-5) = 14×مضروب(ن-2) / مضروب (ن-5)

اذن ن^2 – ن =14ن -56

اذن ن2 -15ن + 56=صفر

(ن-7)(ن-8)=0

ن=7  ، ن=8

2) الأيمن = 40×39×38×37...........×3×2×1

            =  (40×38×36.....×4×2) (39×37×35×........×5×3×1)

           =2^20 (20×19×18×......3×2×1) (1×3×5×......×39)

          =2^20 مضروب 20 ×(1×3×5×.....×37×39)

          =الأيسر

3) من المعطيات

  مضروب6 / مضروب(6-ر) = 4مضروب6/مضروب(7-ر)

اذن 1/مضروب(6-ر) = 4/(7-ر)مضروب(6- ر)
اذن 7- ر=4 

ر=3

المطلوب =

( مضروب 4 /مضروب 6) +( مضروب 3 \مضروب 4)+(مضروب 1/مضروب2)

=47 / 60

4)ن ل7 > ن ل6

اذن ن أكبر أو تساوي 7

بما أن 7ل7 = 7ل6

اذن ن لا تساوي 7      اذن ن=8

7) بتوحيد المقام

(ن+2)(ن+1) + 2(ن+2) – 56 /مضروب ن+2 =0

اذن البسط = 0

اذن ن^2 +3ن +2 +2ن +4 -56 =0

ن^2 +5ن -50 =0

(ن+10)(ن-5)=0

ن=-10 مرفوض    ،  ن=5

